# tdl arbres binaires.py

01| from graphviz import Digraph

02|

03| graphe

04|
05|

= Digraph(strict = True)

06| class Arbre :
nb arbre = 0;

07|
08|
fd = Non
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le noeud
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def
e):

def

def

__init_ (self, info = None, fg = None,

self.info = info

self.fg = fg

self.fd= fd

self. class .nb arbre +=1

self.num = str(self. class .nb arbre)
graphe.node(self.num,self.info) #trace

trace graphique(self):

Trace les ponts de l'arbre sous le self

L = [self]
while 1!= [] :
nd = 1.pop(0)

if nd.fg != None:
graphe.edge(nd.num,nd. fg.num)
1.append(nd.fqg)

if nd.fd != None :
graphe.edge(nd.num,nd. fd.num)
1.append(nd. fd)

inserer_droite(self,valeur):
if self.fd == None :

self.fd = Arbre(str(valeur))
else :

nouvel arbre = Arbre(str(valeur))
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nouvel arbre.fd = self.fd
self.fd = nouvel arbre

def inserer_gauche(self,valeur):
if self.fg == None:
self.fg = Arbre(str(valeur))
else :
nouvel arbre = Arbre(str(valeur))
nouvel arbre.fg = self.fg
self.fg = nouvel arbre

def taille(A)
if A == None : return 0
else:
return 1 + taille (A.fg) + taille(A.fd)

Arbre("racine B")
g = Arbre("fgB 1")
d = Arbre("fdB 1")
d.fd = Arbre("FdB 2")
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B = Arbre('0")
B.inserer gauche(1)
B.inserer droite(2)
print(B.taille())
B.trace graphique()
print(taille(A))
A.trace graphique()
graphe.view()



